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Mathematics/P 1/ Wiskunde V1 2 DBE2015
' NSC/NSS — Memorandum

NOTE:

o If a candidate answers a QUESTION TWICE, only mark the FIRST attempt,
s  Consistent accuracy applies in all aspects of the marking memorandum.

s  Once a candidate has reached 2 errors: stop marking.

LET WEL:

o Indien 'n kandidaat 'nvraag TWEE keer beantwoord, sien slegs die EERSTE, poging na.

o Volgehoue akkuraatheid is DEURGAANS op ALLE aspekie van die memorandum van
loepussing. .

e Indien ‘n kandidaar twee foute begaan het hou op merk.

QUESTION/VRAAG I
1.1.1 | xfx-1)=0" _ | x=0
x=0 o x=1 ' v x=1
@)
L12 | 25" ~4x-5=0 -
— : v’ correct
Lo -(- 4)i\/ (—4)" —4()(-5) substitution
B 2(2) ' ' into correct
4456 formula -
Ty .
x=-087 or x=287 _ ' v answers ..
€
OR/OF
¥ 25220 e o
p e 08 (R e ¥ completing.
(x—1)2 =—+] o e : the square/.
2 T voltooiing van
r—1=1 7 o TR ST die vierkant
12 . : . Ll
Lx=14 z :
2 _ v+ answers
x=—0,87 or x=287 : (3)
o |
1.1.3 =125 V573
5% =57
x==3 S ' _ | v answer
2)
OR/OF

il
Copyright reserved/Kopiereg voorbehou _ W ﬁlc&sﬂ turn over/Blaai om assebligh




Mathematics/P i Wiskunde V1 3 : DBE/20135
] NSC/NSS — Memorsndom ’

1

Sx .l | .
125
1 i I 3 : ‘/(:-[_ ”-¥[3J3
5) “5) | )
| v answer
—x= 3
. @
OR/OF
«_ 1
125
] v"use of logs
x=log | —
gs(lzsj -
: us ‘/ SO8WeEr
V 2
OR/OF e )
- ; i | ﬁ u‘-:j" ......
125
5:: 12521
SI ‘53 :I
5.1'}'3 :50 ‘/53
x+3=0
x=-—3
v answer |
(2)

114 | {(x-3¥2-x)> 0

/\ OR/OF ;%L,{Q_
' 2 3

v'critical values h

2/ \3
v solves an
2<x<3 v ;?;vi:rty
OR/OF 3)

(x—s)(zxj> 0

(x -3 x-2)<o0
‘/.2<x

2\ /3
\/

2<x<3 : : ' .
_ . (3)

ORIOF o v oritical values
' 2 3

Copyright reserved/Kopiereg voorbehou & % éPlcas& turn over/Bleal om asseblief




Mathematics/P 1/ Fiskunde V1 4 DBE/2015
' NSC/NSS ~ Memorandum
121 L x=3 v answer
(1)
1.2.2 ~4
i+l=—"-"
x-3 v
(X‘{-].XJC*?))::-—J\{ (x+1XxA3)=—4
(x+1fx =3} 4=0 ¥ standard form
x*=2x+1=0
¥ factors
2 a—
(x-1) =0 + gnswer
x=1 @
123 | Yes, the graph of 7 and the graph of g have equal roots at ¥ = 1. v ves
Ja, die grafiek van fen die grafiek van g ket gelyke wortels by x=1. ~'reason
. : 2
OR/OF @
| Ves, the graphs of fand g intersect in only one point, which is at jyes
1= 1. [Ja die grafieke van fen g sny in slegs een punt wat by x=1is. | ¥ 16800 o

|

Co?yright reserved/Kopiereg voorbehou
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Mathematics/P 1/ Wiskunde V1 5
' NSCINSS - Memorandum
1.3
A B
Speed/Spoed =y km/h
Distance/4fstand = x km vtime from A
Time/Tyd = ad toBis =
¥ ¥
A B
— 3y o 0 .
Speed/Spoed = > km/h : -
Distance/df$tand = x km S 7
. _x  2x R
Tmdd= 5=, s G 1 time from B
2 fo A1s 2x
3y
OR/OF :
| s D | T
A i@ffm B : ¥ x }—‘
— / 3 | iy ] Ty
B 3 io/na ;i.-_ | _ 5 5
| Average speed travelled/Gemiddelde spoed afgelé:
Total distance travelled/ Totale afstand gereis _ 2x
Total time taken/Totale tyd geneem x 2=
| y 3y v o
2x
“im VN
3.1:%2.1 v 3y
_ o AL
5x 5x
_5Y v v
5
(6)
[23]

Copyright reserved/Kopiereg voorbehou
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Mathematics/P 1/ Fiskunde V1

6 .

NSC/NSS - M_emaraﬂdum

DBE/2015

QUESTION/VRAAG 2
2.1 | 1,=31 v answer
' (1)
22| T =9n-5 v In
ORIOF V-5
T =a -i—(n —l}d (2)
= 4+(n—1)9)
=9 7 (1-1Y0)
(2)
2.3 4;22; 40.......
a=4
d=13 /v d=18
Sy :%m +(n-1d]
25 ' | ¥comrect
=_[2(4)+(24)(18)] substitution
into correct
25 (440) formula
)
=5500 B v answer
e e (4)
AUNIRR I _
OR/OF
T, =9(49)-7 /v T,y =436
— 436
25 v substitufion
S, [4+436] into correct
2 formula
=5500 v answer
| 4
OR/OF
| VYT, =436
4422440458 +76-+94+1124130 +148+166+184 +202+220+ 238+ expands
256+ 274+ 292+ 3104328 +346 +364 +382-+ 400+ 418+ 436 | whole series
~5500 | v answer
(4)

Copyright reserved/Kopiereg voorbehou
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Mathematics/P 1/ Wiskunde VI 7 DBE/2015
NSC/NSS — Memorandum '
24 |
\ / \ / \ / | Ysetsup
' quadratic
\ / \ / | sequence
2a=9 3a+b=4 a+b+c=-06
asg 3(2J+b:4 g—ig«?c:—ﬁ 9
2 2 22 v’a:—z—‘
19 _
b:_—-z_“ . c=—1 ‘/b=”§
Tn-:—ganz—gn—l , Yie=-1
4)
OR/OF
(n—l)(n—Z}dz
T, =1 +(n~1}!], +-—“E"_— ¥'formula &
Y substitution
=—6+(n-—l){4)+~————m—(’rI IX; 26)
on* ~2Tn+18 Va=2
:H6+4ﬂ'—4+—*ﬁ“—£—‘—“ ) 2
9 , 19 Vb=
=—n'——n-1 - :
2 — 7 v c=—1
(4)
OR/OF |
.ﬂ{‘" i i
T =an’+bnc | ¥ setsup
94 =9 . ‘ o quadratic
o : s . . sequence
a= T o Jasg
2 9. ) : _ )
T =(5](1)2 +5{)+e¢
9
~b==—+b+c - linel
2
o), .,
T, =5 2) +5(2)+c
| -2=1842b+c .. lne2
27 . .
d=—+bh ... line2 - linel
~19 be-—
b= : _ 2
2 . \/,j = -]
c=—] _ _ .
' _ ' (4}
T, =~§n1 ~%n—1 L [11]
{

. Copyright reserved/Kopiereg voorbehou : : @ 7 &% Please turn over/Blaal om asseblief
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Mathematics/P1/Wiskunde V1 i
: NBC/NES — Memorandum
QUESTION/FRAAG 3
3.1 21
Given Z(— 3) ¢
p=4 .
3.1.1 2’;:(,_3)‘:81 v'81
T, =(-3) =-243 v-243 and 729
17, =(~3)° =729 @
3.12 |r=-3 v answer
(1)
313 | ®»
2(4—“ 3) will NOT converge/sal NIE konvergeer. ¥'NOT converge/
P= NIE konvergeer
v'we do not have
To converge/om te konvergeer, —1<r<1 and r=-3 “ler<]
@)
OR/GF
0 VNOT converge/
T\ nverg
pég Y will NOT converge/sal NIE konvergeer. NIE konvergeer
vir<-—]
Because/Omdat r < ~1 @
314 3] (]_ _313) v'n =18
Sig = 1_(53)) , ‘/azg_lx
, _ . v’ correct
=—7845 264882 x C TR substitution into
. - correct formmula
OR/GF 3)
| 205 06~ 10
c Csnf(-3)t -1 |
18
. (_3)_1 S v'n=18
=-—7845264882 x ‘ ST v g =81x
v’ correct
substitution into
correct fonnula
3)
321 b6-x; 5;v4x+12
5—(6-x)=dxr12-5 VT, -1 =T, -1,
y-l=~+4x+12-5

x+4=v4x+12  (awd x2-4 and x2-3)
x' +8x+16=4x+12
P4 hrd=0

(x+2)2 =

x=-2

v factorisation

Vix+4=y4x+12

v

x*+Bx+l6=4xr+12

¥ answer

)
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Mathematics/P 1/ Fishunde V1 : 9 DBESZ015
_ RSTUASS - Mememndum
f320 1 T,=t6-{-21=¢ i |
I . | .
T, =5 ; :
T, = Ja{-2)+1z ;
=2 !
bed = -2
= ;¥ corredt
T, =8+9(-3) , substitution into
— 19 | correct formula
| v answer
! (3)
,I [16]
QUESTION/VRAAG 4
4.}. . R . F = “:}, i '\'/ \/ ¥ ;-;-j::)_-
(2)
OR/OF
v (-o0;-2)
(_ oo;—Z)u (— 2 °°) v (— 2 oo)
2)
4.2 a .
glx)=—"-2
x—1 o
_ 2 ¥ substitution of
= e the point (0; -5)
-1 in to g{x) -
S5=a+2 .
a=3 _ | v answer
L . ' ' (2)
4.3 For g, asymptotes interscet at/ Fir g, asimpiote sny by (1;-2)
~ For/Vir y = g{x~3)+7, asympfotes will intersect at/ v (1;-2) forg
. . . vx=4
asimptote sal sny by (1 +3;-2+7) o Vs
ie/di at/by (4;5) | Y - 3
OR/OF
gxy=——-2
y= g(x - 3) +7
3 v'subs
= — 2
v—3—1
3 g/_x = A
= +5 A
(4;5) i (3)
: | (7]

e Y AT e unArRE AL S S g L O&Plﬁase turn wtt/B_{aaz‘ om cuseb!_iej
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QUESTION/FRAAG 3

10
NSCINSS - Memorandum

DBE/2015
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5.1 1y’ o
y=|- i ¢ substitution
S N - —»!: »:} "S%C
¢ —peRRTRE OF PP |
16 L B b | v answer
) —= o
52 (1] E R \
y=|= ' T |
_ 4 T A T
N T
4 __/1‘ s
AR LZ) ¥'interchange
xand y
y=log, x or y=-logx :
! v’ answer
' | 2)
53 |fandf U are symmetrical about the line y = x, to obtain /', reflect f
inthe line y = x. | Yreflectiny = x
fenf Vis simmetries om die lyny = x, om dus f~ Y te kry reflekeer
findielyny = x. - . (1)
OR/OF
The x and y-coordinates of points on fmay be swopped around to
ohtain the coordinates of the poimts on /™. Two points that lie on the
graph of f are (0 ; 1) and (-2 ; 16). The corresponding points that v'swop x and y
will iz on S~ will therefore be (1 ; 0) and (16 ;-2).
Die x- en y-koordinate van punte op f mag omgeruil word om die
koSrdinate van punte op f~ te kry. Twee punte op die grafiek van [ M
is (0; 1) en(-2; 16). Die ooreenstemmende punte op | ~ sal dus
(1 ; 0) andlen (16 ; —2) wees.
5.4 i
v shape of 1
\(] 0 o1V x-int of fTat 1
- —t
2)
- o
W
(?,\ //‘l ,{g :‘:"ST
AV ¢ % Plepse wum over/Binal om asseblief
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11
NEC/NSS — Memorandum

DBELO

$ i—

55 [ x>0 v x>0
(1)
OR/OF
\ v (0;50)
(0;0) )
56 | fHx)=-2
From 5.1, F (16} =~ Y 250
<x<i6 car xe(0;16] Yx<16
(2)
571 1. o s
g = 5(usmg a calenlator/gebruik 'n sakrekenoar) Vg
)
OR/OF
Without a calenlator (not necessary)/Sonder sakrekenaar (nie nodig)
1 - !
=log, = g =log,y —
q g% 5 % 2
17 1 log—
4 - 2 (II = L;‘
274 =27 OR/OF fog "
2= - log? sq=t
1 = T
=-— -2 IDg 2 2
2 (1)
_1 -
,
5.7.2 | At the intersection point of f and f 7 y=x (by symmetry).
Thus need only solve £~ (x)=x (instead of f (x)= £ (x))
By die snypunt van fen f 7y =x (deur simmetrie).
Slegs nodig om [~ (x) =x op te los (in plaas van [ (x) =/ (x)
fog, x=x . '
7 i 1
4 : —— (¥ —~=log, —
e
- 7 OF GABIC 2 )
log, L=+ from 5.7.1 TEESARTMENT B, i *
L N _ ER G Ll = 1
4 i '\‘/J: = —
1 \[ 2
X =— .
2 .
¥= l
2 S 3)
33
2°2
OR/OF
i |
By/Van 5.7.1, —=log, —
2 2 /}2— = log, % j
1 [
Which means thaf [% —2—] lies on the graph of £/
. - / )
/B 4
”'Vx\ Js
bt epaemred /FAanieres vonorbek oy oy Please trm over/Blaet om assebiief




Mathemetics/P | /Fiskunde V1 12 DBE2015
B ~ RECARSS — Memorundam o
1 1‘] . , . :
Wat beteken | —; — ) 16 op die grafiek van [ 1
\\ ya .‘iA Vo= .
| 2
1 1Y, (1 E
But by, ==t 1 =x/Mear. | —i— {Eopy =
13t clearly, [2’2) ies ony = x/haar, Lz' 2) lEopy==x %/y:-};
B (3) :
1 1Y, . . : p (1 1y 14} -
Hence Pk is the intersection point of fand /™ /Dus is 5 ;5 ; (14
die sypunt van fen f N |

QUESTION/VRAAG 6
61 ﬁ3x2_9’}.ﬁ+30:0 \/—311*9_’C+30i{]
2 10 = |
x°+3x-10=0  factors
(x+ 5)(x~2):0 ¥ aNswWers
x=-5 or x=2 v
AB =T units AB =7 (4)
62 | —327-9x+30=-12x+12 vequating of
-3 +3x+18=0 oquatons
xf-x-6=0 Vatex-6=0
(x—3fx+2)=0 v factors
=D =3
X < or X =23 ) ‘/X =3
ALK, x>0, hence y =—12(3}+12=-24 Vy=-24
K (3;-24) | 5)
63 | flx)zel) e L
—— T N f QF - \/’ - 3
< x23 GEPARTME _ x>
x<-2 orx ( D DUCATION v o
OR/OF | o |
_ | i 45 10 @)
flx)<gx) T £15 K110 | v (a2
xe(~m;-12] or[3;0) ) IO ‘Mme—"“‘“"é (i)
’ S w“"““g AR AT IONE ] v[3;2)
Bk v or
OR/OF (3)
3% ~9x+30-(~12x+12) <0
~3x" 4+3x+18<0 ;
v —x—620 : y
PV x5 -2
—_ > ! -
(x—3)fx+2)20 e
Cox<-2 orx23 L oy
N ()
C{ﬂ;;r g . \E‘\‘\;\:&E’\
' PR Y
Copyright reserved/Kopiereg voorbehou ;—"f v Vo T Please mirn overBlant om assebliel
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Mathematics/P 1/ Fiskinde Vi ' I3
— NSONMES — Memorandum
64 | O =32 —Ox+30—{-12x+17} : ; v o
=-3x" +3x+18 | CD=y; -y,
. v
b —3x7 4+ 3x+18
x=—-  ORJOF =0 ©ORWOF CD=-3"—x}+18
. :
-~ ' Ty v'method
='——§— —6x+3=0 = {(1—5} *[-]—\ ]+}S e
2(* 3} : L\ 2, 2) i :
1 2
= - =—f(x—i] PEIRY. Vx=d
2 7 2 2
S
:-—3(:« *l\} +18=
by 4
Max length/Maks lengte CD OR/OF  Max length/Maks lengte C1
2
:—3[1) +3‘(i j+18
2 2
. T
4 2 T?"HEI v'max length
1 Ea S D= 75 3
_ =-— grig—
=18~ 4 4
4 (5)
2y
QUESTION/VRAAG 7 \
[ 7.1 | Anisha
Final investment value/Finale beleggmgswaarde ‘
= Pt +in)+7,5% of R12000 j%o or 7,5% of R12000
— 12000(1+ 0,085 x 5)+ 900 120001 +0,085x5)
v R18 000
=R18 000
Lmdjwe
Finalinvestment value /Finale beleggmgswaarde
= P(+a) *’12000[“0{185}
—12000(1 0,085 ) | | ¥ R18273,54
~RI18 273,54
Therefore Lindiwe will have a larger final amount./ . o
Lindiwe sal 'n greier finale bedrag hé. : conclusion (f))

o A S e mferes winrhe hot 5! %d Please tum Oyef/Blaai om assebligf




Mathematics/P 1/ Wiskunde V1 i4 DBE/2015
NSC/NSS — Memorandum
7.2 A=Pl-i) v formula
] v substitution
41 611,57 =120000(1 - 0,124’
4112?01(’)?)7 - (0876) 4161157
- =P8 125000
. 41611,57 _
B0s76) 150000
= § years v answer -
OR/OF ' (4)
A=P{-i)
41611,57 =120000{1 - 0,124)° v formula
41611,57 . o
A6 _ (6 876) ¢ substitution
120000
41611,57
lop——"=2 = nlog{0,876)"
5000~ "8 )
logM . 41611,57
120000 v PT120000
log0,876 log 0,876
: v answer
= § years :
- - (4)
7.3 final amount/ finale bedrag Vi 0,15
(L) -1 12
=P(1+i) + -xuj v n=024
I .
- 24 - )
v v
800 [1 +_9’15—j -1 (subs) ¥ (adding)
- o1sY 12 . aoﬂ[w%s] -1]
:5000[1+ 12 -+ 0,15 5000(””;?} N oS
I 2
= 6736,755 4 22 230,467
=R28 967,22
v’ answer
(5)
[15] |

ooaoht reserved/Kopieres voorbehoi
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NSC/NSS — Memorendum

QUESTION/VRAAG 8

DBE2LS

8.1
f(x+f7)z~4—
x+h

o4

fa+h)-f(x)=

Tx+h ox
B 4x—4(x +.h)
- x(x + h)
_Ax~4x—-4h
- x(x + h)

Jx+h)y-F(x} x(.r-i—h)
I3 h
—4h

k(x4 k)
et SR
x(x+}1)

gy LG~ 1)
10 =lim 2

=lim——— 4
im0 x(x + Fz)

—4

4 4
x+h x

V/

J4x—4x+h)
x(x+h)
~4

Y x(x+h)

v formula

1 v answer

)

i

Copynght reserved/Kopiereg voorbehou
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16

DBE/2013

I -  RSEA NES - Memorendom o
f !x} = ___Tq M ”"fli‘OI'ﬁ]'Llia :
h
: 4 4
i o | v subst. into
ST L B 25 fi 1
=0 h crmilla
J{:—?A-{i}r)ﬁ) v 4x—4{x+ h)
= Lém—f—x- sl ' x(x+h)
A0 A
Ay — 4x— Ah
= lim .__r_—ﬁ_
0 el +7)
= lim — —— 4 o4
0 xh{x+ f]} ! (x+h)
e li.m—;L !
ks x(x + Fr)
-4 v answer
_of ®
e '): —— o e —
8.2.1 y=5x" +5x+1 — PR mt,f‘-’l Il ;_’f I {i l ::/350*»
' I L_.‘b
D _10x+5 ERUSE 1
- b 1]
8221 p [ el x} 205 - 2
2 P ® G ﬁ 3 v x;
) PRe e AR IS ,.._j\
z 1 e T ": S t 5 2
=D, |x* — PUBLIC ERAELTD LI R BV
) SRS e e T i 3
2 21 oL
-y - . 2
3 2 on
8.3 plx)=5" +2x L i |
p'{x)=3x"+2 ‘/p.(x):g?; “"é
3x* 20 or/of x* = 0 for alltviralle x € B St?tj; fcgus’u o
3y 4232250 forallviralle xeR F
ie. p'(x)> 0 for allivir alle xeR . Tinking derivative
i.e. all tangents fo p have gradient greater than (ot equal t0) 2. ! to gradient of
Thus there is no tangent to p that has negative gradient. | tangent/verband
: 5 tussen gradiént en
Alle ragklyne aan p sal dus 'n gradiént groter (of gelyk aan) 2 hé. ~ afgeleide
Daar sal dus geen raaklyn aan p wees mel 'n negatiewe gradiént | ' (3)
I L — o | [13]

o e d K ppieres voorbelio
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Mathematics/P 1/ Wistunde V1 17
' NRC/NSS — Memorandum
QUESTION/VRAAG &
9.1 x=10rx=3 v'x =3
v x=1
2
92 I<x<3 ¥ v answer
- . (2)
9.3 For a point x close to 3/Vir 'n punt naby aan 3. vfdec forx <3
| Hx<3, f'x)<0 =>f decreasing/dalend fdalend virx <3
If x> 3, f'(x)> 0= increasing/siygend f incrforx >3
Therefore: 3 stygend vir
f has a Jocal minimum at/f het lokale minimum by x = 3 x> 3 .
' ' v x =3 local min
| @)
OR/OF
At x =13, the gradient function changes from negative to positive v atx =3 gradient
therefore the function will have a local minimum point at x = 3/ changes from
By x =3 verander die gradiéntfunksie van negatief na positief neg to pos
dus sal die funksie 'n lokale minimum punt hé by x =3. v x =3 local min
| - 2)
OR/OF _
F'(3)=0and £"(3)> 0 therefore the function will have a local v )0
minimmum point at x =3 / - o v x = 3 locel min
- I "(3) > 0 dus sal die funksie 'n lokale minimum punt hé by x =3, @ |
9.4 f "(x): O at the turning point offby die draaipunt van [ (x)
Using symmetry/Deur simmetrie x= 143
2 v answer
| - =2 (1) |
9.5 Concave up ifiKonkaaf op as f "x)>0 v ) >0
o x>2 v answer
| 2)
B




‘Mathemalics/P1/Wiskunde V1 18

NSC/NSS - Mam_omnﬁum

DBENGLS

GUESTION/VRAAG 10
Given: M) =13~97 +3000° ; 0<¢=<30
101 | a4(0)=0° —9(0) +3000 .
—3000g or 3kg HSWer 0
102 | #*-9¢* 43000 =3000 v M(t}=3000
£ -9 =0 »
2 _ r—=5=0
{1 -9)=0 ¥'factors
t=0 ort=9
Baby’s mass will return to the birth mass on the 9% day/ vi=9
Baba se massa keer terug na massa by geboorte op die 9% dag. (4)
10.3 M(t)=0 v M'(t)=0
3? ~18t =0 V3 -1%
3(t-6)=0 v factors
f=001r =6 . it
| Baby’s mass will be a minimum on the 6% day/ (4)
Baba se massa sal 'n minimum wees op die 6% dag.
104 | pM'(t)=3 18 v 61 —18
v
M*(t)=66—18 AnSWEL
_ @)
0=06¢~18
t=3
OR/OF
v 0+6
Using symmeétry/Dewr simmiirie: 7
' _0+6 v answer
e . @)
=1 {113

Copﬁighi reserved/Kopiereg voorbehou
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QUESTION/VRAAG 1]
(1111 - =
l n(S)=600
Hockey Rugby
/g'L . v’ 372~x for
Hockey only
v 288~x for
Rugby only
v 56 outside of
Hockey & Rughy
N 3)
11.1.2 | (372 x)+x+(288—x)+ 56 =600 ¥ geiting up the
716-x =600 |, cauanon
ENSWeT
x=116 )
OR/OF
n{H or R )= 60056
= 544 v’ setting up the
n(H o R) = n(H1)+n(R)—n{B andR ) equation
544 =372+288—x _
. ~116 S E 2
11.1.3 | No, they are not mutually exclusive. ‘ v No
There is an intersection between the two sets/ v justification
Nee, hul is nie onderling uitsluitend nie. (2
Daar is 'n snyding tussen die hyee stelle
11.2.1 | 5t=120 | i v enswer
11.22 | 1x2ix 3 f——’;‘:‘@ppﬁﬂ\ﬁﬁﬁ& L}Ci-wl.-ff«u_ - g . v 2
=12 EOU AR V3
_ \ v’ answer
I YR 0 3)
11231 Six6lx2 IR v Six61x2
1t v division by 11!
b v answer
BPEN : | (3)
I [14]
TOTAL/TOTAAL: | 150 ;
e |

T A Ry

| Plesse turn over/Blaai om asseblief _
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ADDENDUM TO THE MEMORANDURM

QUESTION 1

1.1.1

22

Copyright reserved/Kopiereg voorbehou

no CA marks, both marks are for accuracy_on]y

1.1.2 No penalty if candidate writes 42 instead of (-4) in the substitution into the forrnula_
Penalise one mark for incorrect rounding in this question.
If the candidate leaves the answers in surd form, award max 1/3 marks.
Answers only: award full marks
1.1.3  Answer only: full marks
If candidate says 5°=5" and then x = 3, award 1/2 marks
1.1.4 Answer only: award full marks
If candidate says the following (and no breakdown has occurred):
¢ x>2 and x> 3, award 1/3 marks
s x<2 and x<3, award 1/3 marks
e x<2orx>3,award 2/3 marks
e x>2 and x<3,award 3/3 marks
e x>2 or x<3, award 2/3 marks
Accept graphical solution (provided it is all labelled conectly and the number line is
indicated)
Acccpt correct interval notation
1.2.2  All marks except first mark are CA
If candidate makes the equation linear, thisis a breakdown. Award max 1/4 marks
(the one mark is allowed for correctly multiplying through by the denominator)
Answer only: award 1/4 marks
If the candidate assumes x = 1 and subshtutes into f and g, award 1 mark only.
193 Must be marked CA from 1.2.2 (50 a candidate who gﬁts two dlstmct answers for
1.2.2 must answer ‘no’ to be awarded marks.)
The mark for yes can be awarded even if no reason is given.
"QUESTION 2
If the answer is leftas 7, = 4+ (n ~1Y9) : award 2/2 marks
2.3  Answer mark s CA, prowded that formula is correct.
If candidates calculate S,, with d = 9, answer is 2800 Award maximum 2/4 marks.
2.4 Ailswer only: full marks : - L
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QUESTION 3 ,
31.1 If candidate starts with p = 1 (instead of 4) award zero marks

3.1.4 Answer only: full marks
The answer does not have to be simplified,
If the éandidate omits the *x” award 2/3 marks

321 Candidates who make the mistake of omitting 8 i.e. writes x° +16=4x+12 . will
get x = 2. Award maximum 3/5 marks

3292 Ifthe candidate reached answer of x =2 in 3.2.1, award zero marks for 3.2.2
If fhe candidate could not solve 3.2.1 but then (correctly) calculates 4 in temns of x
and correctly substitutes a and d in terms of x into Typ formula, award maximum

2/3 marks,

QUESTION 4 | |
4.1  If the candidate answers y = —2 t award full marks _
The only time a candidate can get 1/2: if the candidate answers y#1

43  Answer only: full marks
No penalty if answer is pot given in coordinate form.

QUESTION 5 Y ST
5.1  Asnswer only: full marks

52  Answer only: full marks ' : ' _
572 Answer only: full marks fr s 06 10

QUESTION & R

6.1  No penalty if candidate has not written “ =0 " o e T o

6.2  CA forx only if x is positive T
CA for y only if y is negative

6.3  Answer only: full marks
If the candidate swaps f and g and does the question algebraically: Award 0 /3 marks

QUESTION 7
71  Mark for R18 000 is awarded only if correct formula used.

Mark the R18273,54 as CA if the candidate has used compound mierest formula
(if quarterly concept is ignored, candidate will get an answer of R18043,88 for

Lindiwe)

7.2 Answer only: tull marks
If candidate switches A and P around and then gets an

2/4 marks (for formula and logs)
1f the candidate takes log of a negative: this constitutes a breakdown.

answer of —8 years: award max

73 No CA marking in this question for the final mark.

- . !
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QUESTION &
Penalise candidates a maximmum of one mark (overall) for notation error in 8.1 and 8.2 -

822 CA on second mark only if the exponent is a fraction
If candidate differentiates -—%x twice, do NOT award the mark for - —1—

~=

QUESTION 9 '
92 1f candidate uses < symbols: award maximum 1/2 marks (because the guestion asked
for strictly decreasing) .

93  if graph / diagram is given without explanation, award fall marks if candidates
indicates the 1 and 3 as being the x-values at the turning poinfs.
¢4 CAfrom9%1 S
95 CAfrom0%4
" Answer only: foll marks

QUESTION 10 _ ' _
10.1  No penalty for units if candidate give 3000.
1f candidate converts to 3kg, units must be given.
102  Answer only: 1/4 marks |
If candidate says f = 9 and shows substitution into A () ie. M (9)=3000: full marks.

10.3  Answer only: award 1/4 marks

104 CA from 10.3
Accept trial and error, provided that this is shown in detail, such as:

1 : ' i ' “method
T M) |
Q Y _ '
1 15 _ _ v answer
2 24 | - @)
3 =27 '
4 T =24
5 ~15
o6 0
Thercfore béby’s mass js decreasing the fastest at ¢ =3/ Die baba
se massa verminder die meeste wanneer [ =3
e ] I ——

QUESTION 11 .
11.1.2 Answer only: full marks - o 0

11.1.3 Award the mark for ‘no’ independent of the justification.

'11.2.1 Accept 5! or 120

%
NS

g
-
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